

Coordinate Geometry

Exercise 7.1

1. (2, 3) (4, 1)

$$\sqrt{(x_2 - x_1)^2 + (y_2 - y_1)^2}$$

$$= \sqrt{(4 - 2)^2 + (1 - 3)^2}$$

$$= \sqrt{(2)^2 + (-2)^2}$$

$$= \sqrt{2^2 + 2^2}$$

$$= \sqrt{4 + 4} = \sqrt{8}$$

$$= 2\sqrt{2}$$

20. (-5, 7), (-1, 3)

$$\sqrt{(x_2 - x_1)^2 + (y_2 - y_1)^2}$$

$$= \sqrt{(-1 - (-5))^2 + (3 - 7)^2}$$

$$= \sqrt{(4)^2 + (-4)^2}$$

$$= \sqrt{16 + 16}$$

$$\Rightarrow \sqrt{16 + 16} = \sqrt{32}$$

$$\Rightarrow \sqrt{16 + 16} = \sqrt{2 \times 2 \times 2 \times 2 \times 2}$$

$$= \sqrt{2 \times 2 \times 2 \times 2 \times 2} = 2 \times 2 \times \sqrt{2}$$

$$= 4\sqrt{2}$$

$$= 4\sqrt{2}$$

Q10 $(a, b) (-a, -b)$

$$\sqrt{(x_2 - a)^2 + (y_2 - b)^2}$$

$$= \sqrt{(-a - a)^2 + (-b - b)^2}$$

$$= \sqrt{(-2a)^2 + (-2b)^2}$$

$$= \sqrt{4a^2 + 4b^2}$$

$$= 2\sqrt{a^2 + b^2}$$

Q11 $(0, 0)$ and $(36, 15)$

$$\sqrt{(x_2 - x_1)^2 + (y_2 - y_1)^2}$$

$$= \sqrt{(36 - 0)^2 + (15 - 0)^2}$$

$$= \sqrt{36^2 + 15^2}$$

$$= \sqrt{1296 + 225}$$

$$= \sqrt{1521}$$

$$= 39 \times 39 = 1521$$

$$= 3 \times 13 \times 3 \times 13$$

$$= 39$$

$$\sqrt{x_2 - x_1}^2 + \sqrt{y_2 - y_1}^2$$

$$= \sqrt{(3-1)^2} + \sqrt{(3-1)^2}$$

$$= \sqrt{(1)^2} + \sqrt{(3-5)^2}$$

$$= \sqrt{(1)^2} + \sqrt{(-2)^2}$$

$$= \sqrt{1+4}$$

$$= \sqrt{5}$$

$$= \sqrt{x_3 - x_2}^2 + \sqrt{y_3 - y_2}^2$$

$$= \sqrt{(-2-2)^2} + \sqrt{(-11-3)^2}$$

$$= \sqrt{(-4)^2} + \sqrt{(-14)^2}$$

$$= \sqrt{16} + \sqrt{196}$$

$$= \sqrt{212}$$

Here they are not

0 or linear

$$= \sqrt{5}$$

$$y_1 (5, -2), (6, 4) \text{ and } (7, -2)$$

$$= \sqrt{x_2 - x_1}^2 + \sqrt{y_2 - y_1}^2$$

$$= \sqrt{(6-5)^2} + \sqrt{(4-2)^2}$$

$$= \sqrt{(1)^2} + \sqrt{(2)^2}$$

$$= \sqrt{1+4}$$

$$= \sqrt{5}$$

$$= \sqrt{5}$$

$$\sqrt{(m_3 - m_2)^2 + (y_3 - y_2)^2}$$

$$= \sqrt{(7-6)^2 + (-2+4)^2}$$

$$= \sqrt{1^2 + (2)^2}$$

$$= \sqrt{4 + 4}$$

$$= \sqrt{8}$$

Thus distance is $\sqrt{8}$ or $2\sqrt{2}$ units.